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1. Introduction
In the previous RAN4 meeting, there are extensive discussions on the in-band blocking requirement for FR2 NR BS, however no agreement was reached until this meeting due to evaluation methodology between joint probability and single probability. Therefore in this contribution, we want to share some further considerations from filter response point of view.
2. Discussion  
As for NR BS, ACS requirement for FR2 NR BS has been approved several meetings before which is 24dBc for 30GHz and 23dBc for 45dBc. In fact, receiver ACS performance is mainly depend on the performance of IF filter or digital baseband filter. However these filters are not just attenuate the interfering signal in the first adjacent channel but also IBB in the second adjacent channel. Therefore we think that best approach of evaluating the receiver selectivity on IBB signal is to check filter response in frequency domain instead of legacy coexistence simulation. In the following section, we will investigate the filter response for each channel bandwidth.
Table1. Summary of SU for FR2
	SCS[KHz]
	50MHz
	100MHz
	200MHz
	400MHz

	
	NRB
	NRB
	NRB
	NRB

	60
	66
	132
	264
	N.A

	120
	32
	66
	132
	264


In the WP5D coexistence study, assigned channel and adjacent channel are both assumed as 200MHz, therefore we want to start from this coexistence case to clarify digital filter design. In this contribution, only rectangle filter is adopted due to 24/23dBc ACS requirement, other window function like Hamming or revised Hamming or Kaiser or Blackman is mainly used to achieve much higher attenuation at stop band frequency range. According to the agreed SU for FR2 in the RAN#84 meeting, we could derive the following pass band and stop band parameters for filter design.
The edge frequency of pass band :
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The edge frequency of stop band : 
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The sampling rate of wanted signal: 
[image: image3.wmf]MHz

F

s

400

=


Therefore, the filter length M of rectangle filter could be derived as following: 
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Figure1. the illustration of filter response in frequency domain
The frequency offset of IBB from channel bandwidth edge of assigned channel is illustrated for this 200MHz case. Based on the filter response shown in the Figure1, it can be found that receiver selectivity 33dBc in the second adjacent channel is feasible and achievable which is also aligned with offset between legacy LTE ACS and IBB requirement. For the other channel bandwidth, similar conclusion could be made based on filter response shown in Figure3 and Figure4.
Proposal1: propose to specify receiver selectivity on IBB as 33dBc; 
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Figure2. Illustration of conductive interfering signal in NR BS
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Figure3. the illustration of filter response in frequency domain
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Figure4. the illustration of filter response in frequency domain
For the radiated IBB requirements, the wanted signal level[dBm] = OTA sensitivity + 6dB, and interfering signal level[dBm] = OTA sensitivity + IBBS+ 4.7dB - SNR - IM, where IBBS is in-band blocking selectivity and assumed as 33dBc in this contribution; SNR and IM are the required SNR for the reference measurement channel and IM is the implementation margin of the BS. 
Proposal2: For the radiated IBB requirements, the wanted signal level [dBm] = OTA sensitivity + 6dB, and interfering signal level [dBm] = OTA sensitivity + IBBS+ 4.7dB - SNR - IM, where IBBS is in-band blocking selectivity and assumed as 33dBc; SNR and IM are the required SNR for the reference measurement channel and IM is the implementation margin of the BS.

3. Conclusions
In this proposal, we shared some further considerations on the in-band blocking requirement of range2 NR BS and the proposals are made as following:
Proposal1: propose to specify receiver selectivity of IBB as 33dBc; 

Proposal2: For the radiated IBB requirements, the wanted signal level [dBm] = OTA sensitivity + 6dB, and interfering signal level [dBm] = OTA sensitivity + IBBS+ 4.7dB - SNR - IM, where IBBS is in-band blocking selectivity and assumed as 33dBc; SNR and IM are the required SNR for the reference measurement channel and IM is the implementation margin of the BS.
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